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( Part-1

Write short answers to any SIX parts.

Define proper rational expression.

Xiogl

Simplify: 3y - 3x

. . . 44/

Rationalize the denominator: W
Factorize: aZ—12a-85
Factorize: ~ ax +ay—x2—xy

Define the cubic polynomial.

Define L.C.M.
Find H.C.F. by factorization: abxy , aZbc
Find L.C.M. by factorization:  X2yz , xy%z , xyz2
Write short answers to any SIX parts.
Define solution of a linear equation.
Solve: J(x-2)<2x +1
Solve:  |x+2]=3
Write quadratic formula,
Solve by factorization: 3x2-8x-3=0
Solve: (x-3)2=4
Define column matrix.
[2 =371 =17

Find the product of: I 210 22

12 6
IfA , then find det A.

6 3]
Write short answers to any SIX parts.
Define supplementary angles.
Find the value of angle b : - 65° b )

Define concentric circles.
Define tangent to the circle.
Draw an equilateral trianalge ABC in which
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~ZE SIS Sns (vii)
abxy , aZbc g—fr,l’”r)’b!;df:f,) (viii)

X2yz , xy%z , xy2 b F oS Fas (i)

mAB = mBC = ma = 5cm
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State the Pythagoras theorem. -g'-.'ul_a:uii_ép (vi)

Find the area of triangle whose base = 8cm , altitude = 15em <G 15 = (A « K578 = a6 B 3 Ka ke (vii)
Define collinear points. _,_é._g/JJsa’bﬁ (viii)

S (3,6)  (ix)

Describe the location of (3 , 6 ) on the number plane.

Ui 08 Ly o feinl v (S i acas
Part - II, Attempt any THREE questions. Each question carries 08 marks.

iR Tax =3 -7 S ()

— 1
WWRES =3 dhen evaluate X’ +? )

Factorize:  4x4—5x2y2 + y4 @t -5xyieyt izl Az (L)
- . Y Y X2ty (A (L
Simplify: x2 = 2xy + 2 X X(x+y) p = /'“’; (<)

Xj;—:; ~ x;z i g xg5 SEdeyaEf (L)

x2-10x-3=0 ;éj;;_@)&@/ﬁ- ()
-uﬂff&:_? JJWW4J?UJC/W'%‘CU)%-VUW~Q (&)

Construct a rectangle whose adjacent sides are 4cm and 3cm.

Solve and check:

Solve by completing the square method:

1

g 94 AT .
Find B! when B:]: ] B=[_; _;J/‘lqéf}" g-1 ()

-3 -2
:ébwa..@,}éﬁxr (&)
Find the volume of a cube whose each edge is of 8m. -8 ubfqb"_f’-_é/ph’(ﬁig(é' ()

_u};_)’bé:&lf‘:ﬂff:fﬁ'_{l C(0,-2) , B(3,-2), A(0,2) L@fg‘,&:’-f.ﬁ (&)
Prove that points A(0,2), B(3,-2), C(0,- 2) are the vertices of a right angled triangle.
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Solve by Cramer's rule: SXx+2y=13 ; 2x+S5y=17
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(Part-1  jlacaa)
12 Write short answers to any SIX parts.

~Eel2 A g 8

If P(x)=2x3+2x2 4 x | , then find P(-2) -E b P(-2) 5, PM) =23 +2x2+x-1 (i)

Solve by formula: ~ (3£+2m )2 — (3¢~ 2m )2 (B+mP-(-2mP . L P s o, (ii)
Define similar surds. - e e i
Factorize: (2 —12t+ 36 2-12t+36 ESE (iv)
Factorize: X2+ 5x—14 X2+ 5x ~14 E67 W)
Define cubic polynomial, .._é—f...;df".d’&/?auf (vi)
Define H.C.F. -E 3 5 (i
Find H.C.F. of 15qrs, 6pgr -2 6par 1 15qrs (viii)
1 Find L.C.M. by factorization: 2ab |, 3ab , 4ca 2ab , 3ab , dca .'__épl-"gﬁ._i[ﬁhidf.gz@ (ix)

12

Write short answers to any SIX parts,

~E 2L g e §f

Solve:  3(2x-D=5(x-1) 3@x-D=5(x-1) <)
What is meant by solution of linear equation? ‘-‘g.ﬁ/l_;"c..g)’&’abl.-»du-{ (i1)
Solve: 3(x=-2)<2x+1 3x-2)<2x+1 g{dﬂ (iii)
Solve by factorization: “i‘ (x+h=3 -3- (x+D=3 :._;_’,:rd’df.glé (iv)
N Write the formula of quadratic equation, -ag._fb’..-:,hl.adm: (v)
:' Solve;  3x2-10x+8=0 XE-10x+8=0 g (vi)
.: Define scalar matrix with example. -é}dl‘?;}lé_@ﬂfgﬁ/kc (vii)
; Find the matrix product: [_? _ jﬂi _'2I } [_? & ; _}[ .—2] } is‘{r % [y (viii)
th=[_? jJ.then find At - Al ?n/\:[_? jJﬁ (ix)

<3

~Zel2 L zge 8 4
LA )
-S540 i)

S grd i

- K852kl 2 5 s KT LWl P pals (i)
Construct a triangle, when two sides are 7ocm and Scm and the included angle is 45°,

12 Write short answers to any SIX parts,

i Define a reflex angle.
Define major arc,

Define supplementary angle.

Sl ()

Define altitudes of a triangle.

(k)

VY a4




Find the volume of the cube whose each edge is 8m. B a,‘.’»:**‘f(.»f.»—_r (vi)
Define the area. -__é..ny,}'J (vii)
Define collinear points. -;"';...‘y/"’gbl.‘ékﬁﬂ? (viii)
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-BULL e i D26 LC(-6.-T) 4 B(2,7), A(S, DpSgiee  (ix)

Show that the points A(6,1) . B(2,7) and C(-6.-7) are vertices of a right triangle.

_uj:“ﬁ; 08 Ly _égf::-[,lﬁ&aﬂlrufad)/ (a9 duaa
Part - II, Attempt any THREE questions. Each question carries 08 marks.

Find X’ + YS,when xy=10,x+y=7. xy=10,x+y=7 ﬁéf}l”‘;‘ggf X +y> (L)
Factorize: a’+b’+a+b a'*+b’+a+b S (&)
1 a’ ab 1 55 (
implify: . . - A7 (L
Smpiify: a’+1  a’+1  al—1  a’-] /7 (2
Solve and check: %x21+%—x " -:,lz—x21+-é~x ié‘J’ ()
Solve by completing the square method: 3x2+5x-4=0 é‘fc:.‘.'éj)d: d/’f (i)
Construct a square whose one side is Sem. RS s é‘}(u)é__bd/b{l (&)

_..é.fr:h'ﬁJb;,-a;nB :Hg}[m,ﬁuo

1 S{bj [35
It13 all 7{"| 10 | then find the values of a and b.

Solve by using matrix inversion method: ~ 4X+5y=0; 2x+ 5y =1 ‘é‘:dd"c.é_./’é..)li' e ()

783316 G AT SNE g 565 6 Wt e 2asditg e a0dud L w ¢ (L)
A rectangular field is of length 40m and width 25m. Fmd the total cost of turfing the field if the
cost of turfing the field is Rs. 16 per m?2.

A(6,~2),B(1;=2),C(-2,2) gerablrdnds, ()
What kind of a triangle has vertices? A{6,~2),B(1,~2),C(=2,2)
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